





Question 11. The multiplicative inverse of 23 is
(a) 2

(b) 3

(c) 3

(d) 2°

Question 12. The multiplicative inverse of 10° is
(a) 5

(b) 10

(c) 10

(d) 10°.

Question 13.The multiplicative inverse of 272 is
(a) 2°

(b) 22

(c) 2

(d) 1.

Question 14.The multiplicative inverse of 10% is
(a) 10

(b) 110

(¢) 1010

(d) 10%.

Question 15.The multiplicative inverse of a™ is
(a) a

(b) m

(c)a™

(d)a™
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Question 26. (-1)°! is equal to

(a) -1

(b) 1

(c) b1

(d) -51.

Question 27. 149600000000 is equal to
(a) 1.496 x 10"

(b) 1.496 = 10%°

(c) 1.496 x 10"

(d) 1.496 = 108,

Question 28. 300000000 is equal to
(a) 3 x 108

(b) 3 x 107

(c).3 = 10°

(d) 3 x 10°

Question 29. 0.000007 is equal to
(a) 7 x 10°®

(b) 7 x 107

(c)7 x 10*

(d)7 x 1073

Question 30. 384467000 is equal o
(a) 3.84467 x 108

(b) 3.84467 x 10°

(c) 3.84467 x 107

(d) 3.84467 x 10°

coLIVEWORKSHEETS



Question 31. 0.00001275 is equal to
(a) 1.275 x 10

(b) 1.275 x 1073

(c)1.275 = 10°

(d) 1.275 = 10°

Question 32. 695000 is equal to
(a) 6.95 x 10°

(b) 6.95 x 10°

(c) 6.95 x 10°

(d) 6.95 x 10*

Question 33. 503600 is equal to
(a) 5.036 x 10°

(b) 5.036 x 10°

(c) 5.036 = 10*

(d) 5.036 x 107

Question 34. 0.0016 is equal to
(a) 1.6 x 107

(b) 1.6 x 10°°

(c) 1.6 x 10

(d) 1.6 x 10

Question 35. 0.000003 is equal to
(a) 3x10°

(b) 3 x 10°

(c) 3 x 10°

(d) 3 x10°
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Question 36. 8848 is equal to

(a) 8.848 x 10°

(b) 8.848 x 10?

(c) 8.848 x 10

(d) 8.848 x 10*

Question 37. 1.5 x 10! is equal to
(a) 150000000000

(b) 15000000000

(c) 1500000000
(d)1500000000000.

Question 38. 2.1x10°% is equal to
(a) 0.0000021

(b) 0.000021

(c) 0.00021

(d) 0.0021.

Question 39. 2.5 x 10* is equal to
(a) 25

(b) 250000

(c) 2500

(d) 25000.

Question 40. 0.07 x 10% is equal to
(a) 700000000

(b) 7000000

(c) 7000

d) 7.
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